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dqy iz’uksa dh la[;k % 35 dqy i`"Bksa dh la[;k % 04 
Total No. of Questions: 35 Total No. of Pages: 04 

312 
fo"k; %fo"k; %fo"k; %fo"k; %    HkkSfrd 'kkL=HkkSfrd 'kkL=HkkSfrd 'kkL=HkkSfrd 'kkL=    
Subject: PHYSICS 

le; % 03 ?k.Vs  iw.kkZad % 075 
Time : 03 Hours  Maximum Marks: 075 

 

funsZ’k%& funsZ’k%& funsZ’k%& funsZ’k%&     (i)    iz’u i=iz’u i=iz’u i=iz’u i=    nks [k.Mksa ^v^ rFnks [k.Mksa ^v^ rFnks [k.Mksa ^v^ rFnks [k.Mksa ^v^ rFkk ^c^ esa foHkDr gSAkk ^c^ esa foHkDr gSAkk ^c^ esa foHkDr gSAkk ^c^ esa foHkDr gSA    
    (ii)    [k.M ^v^ ds lHkh iz’u gy djuk vfuok;Z gSA[k.M ^v^ ds lHkh iz’u gy djuk vfuok;Z gSA[k.M ^v^ ds lHkh iz’u gy djuk vfuok;Z gSA[k.M ^v^ ds lHkh iz’u gy djuk vfuok;Z gSA    
 (iii)    [k.M ^c^ ds dsoy ,d fodYi ds lHkh iz’u gy djsaA[k.M ^c^ ds dsoy ,d fodYi ds lHkh iz’u gy djsaA[k.M ^c^ ds dsoy ,d fodYi ds lHkh iz’u gy djsaA[k.M ^c^ ds dsoy ,d fodYi ds lHkh iz’u gy djsaA    
 (iv)    vko’;drkuqlkj LoPN ,oa ukekafdr fp= cukb;sAvko’;drkuqlkj LoPN ,oa ukekafdr fp= cukb;sAvko’;drkuqlkj LoPN ,oa ukekafdr fp= cukb;sAvko’;drkuqlkj LoPN ,oa ukekafdr fp= cukb;sA    
 (v)    izR;sd iz’u gsrq vkoafVr vad iz’u ds lEeq[k vafdr gSAizR;sd iz’u gsrq vkoafVr vad iz’u ds lEeq[k vafdr gSAizR;sd iz’u gsrq vkoafVr vad iz’u ds lEeq[k vafdr gSAizR;sd iz’u gsrq vkoafVr vad iz’u ds lEeq[k vafdr gSA 
    

Note:- (i) Question paper is divided into two parts ‘A’ and ‘B’.  

 (ii) All questions of part ‘A’ are compulsory to attempt.   

 (iii) Attempt all questions of only one option of part ‘B’. 

 (iv) Draw neat and labelled diagram wherever required.  

 (v) Marks allotted on each question are mentioned in front of the question.  

 

[k.M[k.M[k.M[k.M    & & & & vvvv    @@@@PART - A 

iz-1  cy dk foeh; lw= fyf[k;sA  ¼1½¼1½¼1½¼1½ 

 Write the dimensional formula of force.  

iz-2  lkoZf=d xq#Rokd"kZ.k fu;rkad ‘G’ dk ,l- vkbZ- i)fr esa vkafdd eku fyf[k;sA  ¼1½¼1½¼1½¼1½ 

 Write the numerical value of universal gravitational constant ‘G’ in S. I. system.  

 fjDr LFkku dh iwfrZ dhft,@ Fill in the blanks.   

iz-3 1 v’o 'kfDr ¾ ------------------------------------------------------------------------- okWV ¼1½¼1½¼1½¼1½ 

 1 Horse power = ………………………………………….watt  

iz-4  cQZ ds xyu dh xqIr Å"ek dk vkafdd Ekku dSyksjh@xzke esa fyf[k;sA   ¼1½¼1½¼1½¼1½ 

 Write the numerical value of latent heat of melting of ice in cal / gm.  

iz-5  rki c<+kus ij nzo ds i`"B ruko ij D;k izHkko iM+sxk\  ¼1½¼1½¼1½¼1½ 

 How is surface tension of liquid affected by increasing the temperature?   

iz-6  fo|qr ¶yDl dks ifjHkkf"kr dhft,A ¼1½¼1½¼1½¼1½ 

 Define electric flux.  
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iz-7  ;fn 1 vkse ifjek.k okys nks izfrjks/kksa dks Js.khØe esa tksM+k tkos rks ifj.kkeh izfrjks/k fdruk 

gksxk\         ¼1½¼1½¼1½¼1½ 
 If two resistances each of 1 ohm are joined in series, what will be the resultant resistance?  

iz-8  ,d mÙky niZ.k dh Qksdl nwjh 10 lseh gSA niZ.k dh oØrk f=T;k Kkr dhft,A     ¼1½¼1½¼1½¼1½ 
 The focal length of a convex mirror is 10cm. Find radius of curvature of mirror.  

iz-9 fo|qr pqacdh; izsj.k ls lacaf/kr ySat dk fu;e fyf[k;sA  ¼1½¼1½¼1½¼1½ 
 Write Lenz’s law regarding electromagnetic Induction.   

iz-10 AND xsV dk izrhd fpUg cukb;sA ¼1½¼1½¼1½¼1½ 
 Draw the symbol of AND gate. 

iz-11  125 ehVj Å¡ph ehukj dh pksVh ls 1 fdxzk nzO;eku dk ,d fi.M fxjk;k tkrk gS] rks fdrus 

le; esa og i`Foh ls Vdjk;sxk\ ¼g = 10 ehVj@lsd.M2½      ¼2¼2¼2¼2½½½½ 
 An object of mass 1 kg is released from the top of a tower of height 125 m. What time will it 

take to strike the ground? (g = 10 m s-2) 

iz-12  ̂̂ fØdsV dk f[kykM+h] xsan idM+rs le; vius gkFk dks ihNs [khap ysrk gSAß D;ksa\  ¼2¼2¼2¼2½½½½ 
 “A cricketer while catching the ball, withdraws his hands. Why? Give reason.  

iz-13  nSfud thou esa ?k"kZ.k ds dksbZ nks ykHk fyf[k;sA ¼2¼2¼2¼2½½½½ 
 Write any two advantages of friction in our daily life.  

iz-14  tM+Ro vk/kw.kZ laca/kh ^yac v{k izes;^ dk dFku fyf[k;sA  ¼¼¼¼2222½½½½ 
 State theorem of perpendicular axis of moment of Inertia.  

iz-15  izfrcy dks ifjHkkf"kr djrs gq,] bldk foeh; lw= fyf[k;sA  ¼2¼2¼2¼2½½½½ 
 Define stress and write its dimensional formula.  

iz-16  lerkih izØe o #)ks"e izØe esa dksbZ nks varj fyf[k;sA     ¼2¼2¼2¼2½½½½ 
 Write any two differences between isothermal and adiabatic process.  

iz-17 fof’k"V izfrjks/k dks ifjHkkf"kr djrs gq, bldk S. I. ek=d fyf[k;sA  ¼2¼2¼2¼2½½½½ 
 Define specific resistance and write its S. I. unit.  

iz-18  ykWjsUt cy dks ifjHkkf"kr djrs gq,] bldk lw= fyf[k;sA     ¼2¼2¼2¼2½½½½ 
 Define Lorentz force and write its expression.  

iz-19  ;fn oLrq vory niZ.k ds /kzqo o Qksdl ds chp fLFkr gks rks izfrfcac fuekZ.k dk js[kkfp= 

[khafp,A    ¼2¼2¼2¼2½½½½ 
 If an object is placed between the focus and pole of a concave mirror, then draw the ray 

diagram of formation of image.  

iz-20  izdk’k ds O;frdj.k ds fy, vko’;d dksbZ nks 'krsZa fyf[k;sA  ¼2¼2¼2¼2½½½½ 

 State any two conditions for the interference of light.  
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iz-21  fofHké lekUrj ek/;eksa ls izdk’k ds viorZu ds fy, fl) dhft,&  ¼¼¼¼3333½½½½ 

 a 
µ 

w × w 
µ 

g × g 
µ 

a = 1  

 For the refraction of light through different parallel media, prove that - 

 a 
µ 

w × w 
µ 

g × g 
µ 

a = 1 

iz-22 vehVj vkSj oksYVehVj esa dksbZ rhu vUrj fyf[k;sA  ¼3¼3¼3¼3½½½½ 
 Write any three differences between ammeter and voltmeter.  

iz-23 cjukSyh dk izes; fy[krs gq, bldk dksbZ ,d vuqiz;ksx fyf[k;sA  ¼3¼3¼3¼3½½½½ 
 State Bernoulli’s theorem and write its any one application.   

iz-24 i`Foh dks 6400 fdyksehVj f=T;k okyk xksykdkj pkyd ekudj bldh /kkfjrk dh x.kuk 

ekbØksQSjM esa dhft,A      ¼3¼3¼3¼3½½½½ 
 Assuming earth to be a spherical conductor of radius 6400 km, calculate its capacity in µ F.   

iz-25  QSjkMs ds fo|qr paqcdh; izsj.k ds fu;e fyf[k;sA rFkk bldh lgk;rk ls izsfjr fo- ok- cy dk 

O;atd izkIr dhft,A   ¼3¼3¼3¼3½½½½ 
 Write faraday’s laws of electromagnetic induction and obtain expression for the induced e.m.f.  

iz-26  fl) dhft, i`Foh ds dsUnz ij xq#Roh; Roj.k ‘g’ dk eku 'kwU; gksrk gSA     ¼4¼4¼4¼4½½½½ 
 Prove that at the centre of earth the value of acceleration due to gravity ‘g’ is zero.  

iz-27  fo|qr pqcadh; rjaxksa dks ifjHkkf"kr dhft,A fo|qr&pqacdh; LisDVªe esa fufgr fofHké rjaxksa ds 

uke] mudh rjaxnS/;Z ds c<+rs Øe esa fyf[k;sA  ¼4¼4¼4¼4½½½½ 
 Define electromagnetic waves.  

 Write the name of different waves in the electromagnetic spectrum in order of their increasing 

wavelength.  

iz-28 dkuksZ batu D;k gS\ blds izeq[k Hkkxksa dk o.kZu djrs gq, bldh n{krk dk lw= fyf[k;sA  ¼4¼4¼4¼4½½½½ 
 What is Carnot engine? Describe its main parts and write the expression of its efficiency.   

iz-29 Å"ek lapj.k dh dkSu&dkSu lh fof/k;k¡ gS\ mUgsa ifjHkkf"kr dhft,A 

 Å"ek lapj.k dh ml fof/k dk uke crkb;s ftlesa lapj.k gsrq ek/;e dh vko’;drk ugha 

gksrhA     ¼4¼4¼4¼4½½½½ 
 What are the different modes of transfer of heat? Define them.  

 Name the method of heat transfer, in which no medium is required.  

iz-30 lekUrj IysV la/kkfj= dh /kkfjrk dk O;atd izkIr dhft, tcfd mldh IysVksa ds e/; K 

ijkoS|qrkad dk ek/;e Hkjk gqvk gSA ¼4¼4¼4¼4½½½½ 
 Derive the expression for the capacity of Parallel plate condenser when a dielectric medium of 

dielectric constant K is filled in between the plates. 
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[k.M & [k.M & [k.M & [k.M & c @ c @ c @ c @ PART – B 

oSdfYid & EkkM~;wy @ oSdfYid & EkkM~;wy @ oSdfYid & EkkM~;wy @ oSdfYid & EkkM~;wy @ Optional – Module 

iz-31 VªkalM~;wlj fdls dgrs gSa\  ¼1¼1¼1¼1½½½½ 

 What is transducer?  

iz-32 dEI;wVj esa UPS dk D;k mi;ksx gS\  ¼1¼1¼1¼1½½½½ 

 What is the use of UPS in computer?   

iz-33 fo|qr pqaEcdh; rjaxksa ds dksbZ nks xq.k fyf[k;sA  ¼2¼2¼2¼2½½½½ 

 Write any two properties of electro magnetic waves.   

iz-34 izdkf’kd rUrq D;k gS\ ukekafdr fp= cukrs gq, bldh lajpuk le>kb;sA  ¼3¼3¼3¼3½½½½ 

 What is optical fiber? Explain its construction with labelled diagram.   

 

iz-35 ^lqnwj laonsu ¼fjeksV lsfUlax½ ds fy, /kqzoh; mixzg mi;ksx esa ykrs gSA^ D;kas\   ¼3¼3¼3¼3½½½½ 

 ‘For remote sensing, polar satellites are used. Why?  

vFkokvFkokvFkokvFkok@@@@OR    

iz-31 yslj (LASER) ls D;k vfHkizk; gS\  ¼1¼1¼1¼1½½½½ 

 What is meant by a ‘LASER’? 

iz-32 'kq) o v’kq) v)Zpkyd dk ,d&,d mnkgj.k fyf[k;sA  ¼1¼1¼1¼1½½½½ 

 Write one example each of intrinsic semiconductor and extrinsic semiconductor.   

iz-33 ,ukykWx o fMftVy flXuy esa dksbZ nks vUrj fyf[k;sA  ¼2¼2¼2¼2½½½½ 

 Write any two differences between analog signal and digital signal.    

iz-34 P-N laf/k Mk;ksM+ dk iw.kZ rjax fn"Vdkjh ds :i esa mi;ksx dk o.kZu fuEu 'kh"kZdksa esa    

 dhft,&     ¼3¼3¼3¼3½½½½    

    (i) fo|qr ifjiFk dk ukekafdr js[kkfp=  

 (ii) dk;Z fof/k 
 Describe the use of a P-N Junction Diode as a full wave rectifier under the following headings- 

 (i) Labelled circuit diagram.  

 (ii) Working.    

iz-35 VªkaftLVj fdls dgrs gSa\ N-P-N VªkaftLVj dk mHk;fu"B mRltZu fo/kk ¼CE fo/kk½ esa izo/kZd ds 

:i esa mi;ksx dk ukekafdr fo|qr ifjiFk [khafp,A  ¼3¼3¼3¼3½½½½ 
 What is a transistor? Draw circuit diagram of N-P-N transistor, used as an amplifier in  

 common emitter mode.   

 

  …………………………………………. 
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